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Iz the cable
connected between
the port and terminal
equipment?

v

Loss of Signal . Loss of Frame
—QQOSS of Signal/Loss of Frame;\'

Llze the following commands to set
the correct framing:

confiqure terminal
controller £l x

framing {3F/ESF]

Mo

Does the framing
format on the port
match the format
of the line?

Zonnect the
cahle correctly.

Checkthe cable -

intearity and
pinouts.

Are the receiving
and transmitting
pairs reversed?

Try using a

Setthe Rx pairto 1 and 2.
Setthe Tx pairto 4 and 4.

K.

Yes

Change the line build out using
the cablelength {long | short}
command.

Cantactthe Telco.
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rallover catile.
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